
    -  

    -                
    ( ),   ( ),     ( )    ,   
                       
http://calcuttahighcourt.gov.in/Notice-Files/district-recruiment-notice/1769  

1.   :     
(a)  (b)  

(c)  (d)   

2. ‘’   ?
(a)  (b)  
(c)  (d) 

3.     ()  ?
(a)  (b) 
(c)  (d) 

4.         4 : 3  6 : 7 
           
 ?

(a) 7 : 13 (b) 7 : 13 

(c) 7 : 13 (d) 7 : 13

5.         10% 
     10%      180 
    20%      ?

(a) 8000  (b) 9000 
(c) 10000  (d) 7000 

6.    ‘’   ?
(a)  (b)  
(c)  (d) 

7.     ?
(a)  (b) 
(c)  (d)   

8.    ?
(a)  (b) 
(c)  (d) 

9.          
? 

(a)  (b) 
(c)  (d) 

10.          
?

(a)  (b) 
(c)  (d) 

11.  ‘’-  ..........
(a)  (b)  
(c)  (d) 

12. ‘    ’  ?
(a)  (b) 
(c)  (d) 

13. ‘’   ?
(a)  (b) 
(c)  (d) 

14.   ‘  ’   ?
(a)  (b) 
(c)  (d) 

15.         ........  
(a)    (b) 
(c)  (d) 

16.          ?
(a)   (b)  
(c)   (d)  

17.   ‘’   ?
(a)  (b) 
(c)  (d) 

18.    ?
(a)  (b) 
(c)  (d) 

19.       ?
(a)  (b) 
(c)  (d) 

20.      ?
(a)  (b) 
(c)  (d) 

21.        .........
(a)      
(b)     
(c)     
(d)   

22.       12%   50000  
  3        25000   
 5           
     ?

(a) 68700  (b) 58800 
(c) 68800  (d) 78800 

23.      ?
(a) ,  (b) , 
(c) ,  (d) , 

Directions (Q 24-29): Fill in the blanks to make the sen-

tence meaningfully complete. 

24. I will have to dispense ………. his service.

(a) off (b) of 

(c) at (d) with

25. Why don’t you sit ……… me?

(a) close (b) beside 

(c) along (d) next

26. I will be ………. a loss in this deal.

(a) to (b) on 

(c) at (d) for

27. Your bad habits will………. your ruin.

(a) bring up (b) bring in 

(c) bring about (d) bring firth

28. …….. is the way to the public library?

(a) How (b) What 

(c) Which (d) Where



29. Make the most of a bad ……….

(a) bargain (b) job 

(c) business (d) work 

30. ‘ ’    ?
(a)  (b)  
(c)   (d) 

ANSWERS

1. (a) 2. (b) 3. (d) 4. (a)  ,   x   
 y   

  x   = x × 

x   = x × 

  y   = y × = 

 = y × 

   = 

= 

,

, ,

, ,

, , x : y = 7 : 13

∴   = 7 : 13

5. (b)  , TV  = x 

10%  TV  = x × 

, 10%   TV 

= x× 

∴ 20%  TV  = 

= 

,

,

,

, , x = 180×50

, x = 9000

∴ TV   9000 
6. (a) 7. (b) 8. (a) 9. (b) 10. (c) 11. (b) 12. (a) 13. (a) 14. (c)

15. (a) 16. (b) 17. (d) 18. (c) 19. (a) 20. (b) 21. (a) 22. (c)

  
100 1 12

50000 3 ?

∴   = 

= 18000 
∴ 25000    = (25000 – 18000) 
= 7000 
  = (50000 – 7000) 
= 43000 
  
100 1 12

43000 5 ?

∴   =  = 25800 

∴ 5   -  = (43000 + 25800)  = 68800 
∴  5          68800

   23. (d) 24. (d) 25. (b) 26. (c) 27. (c) 28. (c) 29.
(a) 30. (c)  


